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Q)A closed polygon has six sides and one of its angles 1s 30°
greater than each of the other five equal angles. What is the
value of one of the equal angles? K
(@) 55° _(b) 115°
(c) 150° (d) 175°

Lol each %m/ omj/@ be %

U +39°
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Q)A closed polygon has six sides and one of its angles 1s 30°
greater than each of the other five equal angles. What is the
value of one of the equal angles?

(@) 55° (b) 115°
(c) 150° (d) 175°

Ans: (b)
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Q) In the figure given below, AC 1s parallel to ED andAB =DE

=5 cm and BC =7 cm. What is the areca ABDE : area BDE : /606 /S 4 /Da rallelo )
arca BCD equal to ?

r E Sem D ar (ABNf) - ’%XAPf\/ (mt /Dmr ﬂg;

. ' ar\<BD€) = :z/"‘ DEXBM f ’W
|
' o
:1 G |4 OW(B CD) = ,L)§ BC ng @[/Mm[[eg
A 5cm B Tem C
(@ 10:5:7 (b) 8:4: AF -~ BM ,DC ( D/ﬁ‘amu é{j‘l’liﬂm
(¢c) 2:1:2 (d) 8:4: fdm/w r))

7
S

f: i“i = 10‘95\2?
3 _
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Q) In the figure given below, AC 1s parallel to ED andAB =DE
=5 cm and BC =7 cm. What 1s the area ABDE : area BDE :
arca BCD equal to ?

E Scm D
A Scm B cm C
@ 10:5:7 (b) 8:4:7
(¢c) 2:1:2 (d) 8:4:5

Ans: (a)



CDS 2 2024 - REVISION - MATHS - CLASS 13

Q) Let ABCD be arectangle. Let P, Q, R, S be the mid-points of
sides AB, BC, CD, DArespectively. Then the quadrilateral
PQRSisa
(a) Square
(b) Rectangle, but need not be a square
(¢) Rhombus, but need not be a square
(d) Parallelogram, but need not be a rhombus

e — ps - SR=RB =67~ Jzzvtf

N 2P

~ 8
X L,g’
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Q) Let ABCD be arectangle. Let P, Q, R, S be the mid-points of
sides AB, BC, CD, DArespectively. Then the quadrilateral
PQRS1sa
(a) Square
(b) Rectangle, but need not be a square
(¢) Rhombus, but need not be a square
(d) Parallelogram, but need not be a rhombus

Ans: (c)
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Q) If a quadrilateral has an inscribed circle, then the sum of a
pair of opposite sides equals
(a) Halfthe sum of the diagonals
(b) Sum of the other pair of opposite sides
(c) Sum of two adjacent sides

(d) No;;go\f{theabove ipt Be - c1bidta - a+é+c+4
A &

AB+Ch = Ctd+bta= atbtcid
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Q) If a quadrilateral has an inscribed circle, then the sum of a
pair of opposite sides equals
(a) Halfthe sum of the diagonals
(b) Sum of the other pair of opposite sides
(c) Sum of two adjacent sides
(d) None of the above

Ans: (b)
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A square 1s inscribed in a right-angled triangle with legs p
and q, and has a common right angle with the triangle. The
diagonal of the square 1s given by o

: durre be 4
s ﬂﬁ ZMD;U%E/ Ry
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Q) A square 1s inscribed in a right-angled triangle with legs p
and q, and has a common right angle with the triangle. The
diagonal of the square 1s given by

Pq pPq

(2) p+2q (b) 2p+q
© \/qu d 2pq
ptq ptq

Ans: (c)
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Q) A rhombus is formed by joining midpoints of the sides of a
rectangle in the suitable order. If the area of the rhombus is
2 square units, then the area of the rectangle 1s

@) 2./2 squareunits  (b) 4 square units
(c) 4.2 squareunits  (d) 8 square units
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Q) A rhombus is formed by joining midpoints of the sides of a
rectangle in the suitable order. If the area of the rhombus is
2 square units, then the area of the rectangle 1s

@) 2./2 squareunits  (b) 4 square units
(c) 4.2 squareunits  (d) 8 square units

Ans: (b)
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Q) ABCD is a parallelogram with AB and AD as adjacent sides.
If ZA=60° and AB =2AD, then the diagonal BD will be
equal to

@ 2AD (b) 3AD
(c) 2AD (d) 3AD
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Q) ABCD is a parallelogram with AB and AD as adjacent sides.
If ZA=60° and AB =2AD, then the diagonal BD will be
equal to

@ 2AD (b) 3AD
(c) 2AD (d) 3AD

Ans: (b)
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Q) In the figure given below, PQRS is a parallelogram. PA bisects
angle P and SA bisects angle S. What 1s angle PAS equal to ?

@) 60° (b) 75°
(c) 90° d) 100°
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Q) In the figure given below, PQRS is a parallelogram. PA bisects
angle P and SA bisects angle S. What 1s angle PAS equal to ?

@) 60° (b) 75°
(c) 90° d) 100°

Ans: (c)
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Q) The area of a rhombus with side 13cm and one diagonal
10 cm will be
(a) 140 square cm (b) 130 square cm
(¢) 120 square cm (d) 110 square cm
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Q) The area of a rhombus with side 13cm and one diagonal
10 cm will be
(a) 140 square cm (b) 130 square cm
(¢) 120 square cm (d) 110 square cm

Ans: (c)
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Q)In a trapezium, the two non-parallel sides are equal in
length, each being of 5 cm. The parallel sides are at a
distance of 3 cm apart. If the smaller side of the parallel
sides 1s of length 2 cm, then the sum of the diagonals of
the trapezium 1s

(a) 10+/5 cm (b) 6+/5 cm
© 5J5cm @ 3v5cm
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Q)In a trapezium, the two non-parallel sides are equal in
length, each being of 5 cm. The parallel sides are at a
distance of 3 cm apart. If the smaller side of the parallel
sides 1s of length 2 cm, then the sum of the diagonals of
the trapezium 1s

(a) 10+/5 cm (b) 6+/5 cm
(©) 5v5cm d) 3v5em

Ans: (b)
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Q)In the figure given above, ABCD is a trapezium. EF
parallel to AD and BG. Zy is equal to

@) 30° (b§ 45°
(c) 60° d) 65°
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Q)In the figure given above, ABCD is a trapezium. EF
parallel to AD and BG. Zy is equal to

@) 30° (b§ 45°
(c) 60° d) 65°
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Q) ABCD 1s a trapezium with parallel sides AB =2 ¢cm and DC =
3 cm. E and [ are the mid-points of the non-parallel sides. The
ratio of area of ABFF to area of EFCD 1s
@ 9:10 (b) 8:9
(c) 9:11 (d 11:9
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Q) ABCD 1s a trapezium with parallel sides AB =2 ¢cm and DC =
3 cm. E and [ are the mid-points of the non-parallel sides. The
ratio of area of ABFF to area of EFCD 1s
@ 9:10 (b) 8:9
(c) 9:11 (d 11:9

Ans: (c)
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Q) If the diagonals of a quadrilateral are equal and bisect each
other at right angles, then the quadrilateral 1s a
(a) rectangle (b) square
(c¢) rhombus (d) trapezium
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Q) If the diagonals of a quadrilateral are equal and bisect each
other at right angles, then the quadrilateral 1s a
(a) rectangle (b) square
(c¢) rhombus (d) trapezium

Ans: (b)
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Q) In the figure given below, ABCD is a parallelogram. P is
a point in BC such that PB : PC =1 : 2. DP produced
meets AB produced at Q. If the area of the ABPQ is 20
sq units, what 1s the area of the ADCP?

A B

Q

D C
(@) 20 sq units (b) 30 sq units
(¢) 40 sq units (d) None of these
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Q) In the figure given below, ABCD is a parallelogram. P is
a point in BC such that PB : PC =1 : 2. DP produced
meets AB produced at Q. If the area of the ABPQ is 20
sq units, what 1s the area of the ADCP?

B
y Q
D C
(@) 20 sq units (b) 30 sq units
(¢) 40 sq units (d) None of these

Ans: (d)
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Q) In the given figure, ABCD is a quadrilateral with 4B
parallel to DC and AD parallel to BC, ADC1s aright angle.
If the perimeter of the AABE 1s 6 units. What is the area
of the quadrilateral ?

A

D

(@) 2+/3 sq units

(¢) 3 sq units

60°

60°

E

B

C

(b) 4 sq units
(d) 4.3 sq units
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Q) In the given figure, ABCD is a quadrilateral with 4B
parallel to DC and AD parallel to BC, ADC1s aright angle.
If the perimeter of the AABE 1s 6 units. What is the area
of the quadrilateral ?

A

D

(@) 2+/3 sq units

(¢) 3 sq units

Ans: (a)

60°

60°

E

B

C

(b) 4 sq units
(d) 4.3 sq units
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Q) Consider the following frequency distribution :

x  Frequency Cumulative frequency

1 8 - -8

» g 544 =20 3 fi =
3 fl *-_‘_29 07 =y =

s 1 p ¢+ =99 f =16
What are the values of f; and f, respectively ?

(@ 10and17 (b) 17and 10

(¢c) 1lland16 (d 16and11
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Q) Consider the following frequency distribution :

x  Frequency Cumulative frequency
1 8 8

2 10 18

3 29

401 45

What are the values of f; and 1, respectively ?

(@ 10and17 (b) 17and 10

(¢c) 1lland16 (d 16and11

Ans: (c)
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Q)In an asymmetrical distribution, 1fthe mean and median of
the distribution are 270 and 220 respectively, then the mode
of the data 1s
(@) 120 (b) 220
(c) 280 (d) 370

Mode - 5 Median — J Mean

= 3% 340 — oA XdFO
— b6p — 590
- [20

——S
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Q)In an asymmetrical distribution, 1fthe mean and median of
the distribution are 270 and 220 respectively, then the mode
of the data 1s
(@) 120 (b) 220
(c) 280 (d) 370

Ans: (a)



CDS 2 2024 - REVISION - MATHS - CLASS 13

Q) Consider the following distribution :

Class ¢ f=1—-4 | Frequency 17( U ;%

o N R 7 o |-
20-40 -3 28 §ho |
40-60 (59 o 32 /400 b
60-80 70 Jp f rof /
80-100 90 40 / 19 1330 of
Ifthe mean ofthe above distribution 1s 50, what 1s the value
of 7

@ 24 (b) 34

(¢c) 56 (d 9%

Mean = flg :ij),ﬂ_f_ggo-}—fGOO"'%fﬂ
f 76+ {

"
Ano/noy N@(

d=2-A
1= 2k
f—s
Mea = 47_f;§u7(

i

h0

WA
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Q) Consider the following distribution :

Class Frequency
0-20 17

20-40 28

40-60 32

60—-280 f

80—100 19

Ifthe mean ofthe above distribution 1s 50, what 1s the value
of 7

@ 24 (b) A4

(¢c) 56 (d) 96

Ans: (a)
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Q) DIRECTIONS : The item-wise expenditure of a
Non-Government Organisation for the year 2008-09 is given below:

Expenditure

Item (inpRs. lakh)
Salary of employees 6
Social welfare activities TV
Office contingency 3
Vehicle maintenance
Rent and hire charges 2.5
Miscellaneous expenses 1.5

The above data are represented by a pie diagram.
What is the central angle of the largest component? W

0
() 120° (b) 105° Socfaf wetlorg =+ X 360
900 d 850
: a b+343+Y+ 25 +S

2 jog::
QL/X& —

W)
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Q) DIRECTIONS : The item-wise expenditure of a
Non-Government Organisation for the year 2008-09 is given below:

Expenditure

Item (inpRs. lakh)
Salary of employees 6
Social welfare activities 7
Office contingency 3
Vehicle maintenance 4
Rent and hire charges 2.5
Miscellaneous expenses 1.5

The above data are represented by a pie diagram.
What is the central angle of the largest component?

@ 120° (b) 105°
©) 9° (d) 85°

Ans: (b)
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Q) What 1s the difference between central the angles of the

largest and the smallest component? i
(El) 0()° (b) ]5° tem
(c) 82.5° (d) 77.5°

Expenditure
(in Rs. lakh)

Salary of employees

Social welfare activities R
Office contingency 3
9 — /5 x93 Dﬂ Vehicle maintenance 4
Rent and hire charges 2.5

oY Miscellaneous exp enses 1.5 v




CDS 2 2024 - REVISION - MATHS - CLASS 13

Q) What 1s the difference between central the angles of the
largest and the smallest component?

Item Expenditure
(a) 90° (b) 85° (in Rs. lakh)
(c) 825° (d) 775° Salary of employees 6

Social welfare activities 7
Office contingency 3
Vehicle maintenance 4
Rent and hire charges 2.5
Miscellaneous expenses 1.5

Ans: (c)
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Q) For x > 0, 1f a variable takes discrete values x +4, x — 3.5,
x—25,x-3,x-2,x+0.5,x-0.5, x +5, then what 1s the

median ? Foy oen mo tﬂt b S wdign]
@) x—125 (b) x-05
© x+05 @ x+1250f ¢ L) (24 !
| 0@ Af q & ) b gunalle)
/?S‘Cehdmf oroer
/ §
&
7 2y —t25
L35, 0-3,1-9.5 29 1 -0.5 !

- (7-2) + (1-0:5)

R
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Q)For x > 0, 1f a variable takes discrete valuesx +4, x — 3.5,
x—25x-3,x-2,x+0.5,x-0.5, x +5, then what 1s the
median ?

(@) x-125 (b) x-0.5
(c) x+05 (d) x+1.25

Ans: (a)
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Q) Consider the following frequency distribution :

Class Frequency /* f
0-10 4
10-20 5 15 2
20-30 7 5 1
30-40 10 35 3%
40-50 12 15 590
50-60 8 or Yy
60-70 65" Qb0
What 1s the mean of the distribution?
(@) 372 (b) 38.1
(¢) 392 (d) 40.1

apper [Soif + (0w L broit

Mean -

q

o

1860

“f

- ZT«Q
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Class Frequency
0-10 4

10-20 5

20-30 7

30-40 10

40-50 12

50-60 8

60-70
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Q) Consider the following frequency distribution :

Class Frequency

0-10 4

10-20 S

20-30 7

30-40 10

40-50 12

50-60 8

60-70
What 1s the mean of the distribution?
(@) 372 (b) 38.1
(¢) 392 (d) 40.1

Ans: (a)
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Q) Ten observations 6, 14,15, 17, x+1,2x—13, 30, 32, 34 and 43
are written in ascending order. The median of the data 1s 24.
What 1s the value of x?

(@) 15 (b) 18
(c) 20 (d) 24
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Q) Ten observations 6, 14,15, 17, x+1,2x—13, 30, 32, 34 and 43
are written in ascending order. The median of the data 1s 24.
What 1s the value of x?

(@) 15 (b) 18
(c) 20 (d) 24

Ans: (c)
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Q) Consider the following distribution:

Value of the variable |1 |2 |3 |4 |5
Frequency 3/f16|5]3

For what value of £, 1s the arithmetic mean of the above
distribution 3.1?

(@ 2 (b) 3

(c) 4 (d) S
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Q) Consider the following distribution:

Value of the variable |1 |2 |3 |4 |5
Frequency 3/f16|5]3

For what value of £, 1s the arithmetic mean of the above
distribution 3.1?

(@) 2 (b) 3
(c) 4 d) 5

Ans: (b)
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Q) Which one of the following relations for the numbers
10,7,8,5,6,8,5,8and 6 1s correct?
(a) Mean = Median (b) Mean = Mode
(c) Mean > Median (d) Mean > Mode
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Q) Which one of the following relations for the numbers
10,7,8,5,6,8,5,8and 6 1s correct?
(a) Mean = Median (b) Mean = Mode
(c) Mean > Median (d) Mean > Mode

Ans: (a)
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Q) The geometric mean of x and y 1s 6 and the geometric mean
of x, yand z 1s also 6. Then the value of z 1s

(a) 12 b) 6
(c) © d e

% Qd( A =) Xjﬁ:éﬂ—;%

%fz "6 9 zdvzzgg

e .63 z:=4
Y

%/v 6t -
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Q) The geometric mean of x and y is 6 and the geometric mean
of x, yand z 1s also 6. Then the value of z 1s

(a) 12 b 6
() 6 d e

Ans: (c)
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Q)A pie chart depicts the classification of total funds of an
organization according to different sources of funds. A
particular sector of pie chart for corporate tax has 108° angle
at' the centre. What 1s the percentage of income from
corporate tax to total funds ?

@) 20% (b) 25%
(c) 30% (d) 35%
: fo8” X [op =

360°



CDS 2 2024 - REVISION - MATHS - CLASS 13

Q)A pie chart depicts the classification of total funds of an
organization according to different sources of funds. A
particular sector of pie chart for corporate tax has 108° angle
at' the centre. What 1s the percentage of income from
corporate tax to total funds ?

(@) 20% (b) 25%
(c) 30% d) 35%

Ans: (c)
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Q) DIRECTIONS Read the following information
carefully to answer the questions that follow.
The average age of 6 persons living in a house is 23.5 years.

Three of them are majors and their average age 1s 42 years.

The difference in ages of the three minor children is same:—

What 1s the mean of the ages of minor children?

(@) 3 years (b) 4 years
(c) 5 years (d) 6 years

Sum af 47 "7[ 3 minot = (6433:5) — (44x3) - -;?—1 :W@”ﬂ__

= 1l -N¢
=
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Q) DIRECTIONS Read the following information
carefully to answer the questions that follow.
The average age of 6 persons living in a house is 23.5 years.
Three of them are majors and their average age 1s 42 years.
The difference 1n ages of the three minor children 1s same.

What 1s the mean of the ages of minor children?

(@) 3 years (b) 4 years
(c) 5 years (d) 6 years

Ans: (c)
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Q) What is the median of the ages of minor children?

(a) 3 years (b) 5 years

(c) 7 years (d) Cannot be determined
7

) 5 9

3 5
3 5

——
—
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Q) What is the median of the ages of minor children?

(a) 3 years (b) 5 years
(c) 7 years (d) Cannot be determined

Ans: (b)
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Q)Consider the following pairs of numbers: ( A, 5)
L (8,12 L 911 UM = Qab
. (6,24) =4
Which pairs of number have the same harmonic means? @+4
(@) TandII (b) IIandIII
(c) TandIII (d) I, IIandIII

1
1) axéx2 - Hx)z % _ g

&+/2 ?%5 £ ‘"‘/5’
Do)y dxaxy -~ dxy - 97

T4/ i, [
0
W) 3xex2y o pxp”t e

67‘2'/ %5' s
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Q)Consider the following pairs of numbers:

L (8,12 L 911

. (6,24)

Which pairs of number have the same harmonic means?
(@) TandII (b) MandIII

(c) TandIlI (d) L ITandIII

Ans: (c)
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Q)In Statistics, a suitable graph for representing the
partitioning of total into subparts 1s
(@) An ogive (b) A pictograph
(¢) Ahistogram (d) Anpiechart
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Q)In Statistics, a suitable graph for representing the
partitioning of total into subparts 1s
(@) An ogive (b) A pictograph
(¢) Ahistogram (d) Anpiechart

Ans: (d)
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Q) What 1s the mean of the squares of the first 20 natural

numbers ?
(@ 1515 (b) 1435
(c) 65 (d) 72 i

AR B SV A %W - 487 -

30 - /go? D?

Mean o Aquard o]f 74%%\?9” n afua/ 8-
g(wg@w - (1) (@n#1)
- 6

4
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Q) What 1s the mean of the squares of the first 20 natural

numbers ?
(@ 1515 (b) 1435
(¢c) 65 (d) 72

Ans: (b)
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Q) Which one of the following statements is not correct with
reference to a histogram?

(a)

Frequency curve 1s obtained by joining the mid-points
of the top of the adjacent rectangles with smooth curves
Histogram is drawn for continuous data

The height of the bar 1s proportional to the frequency
of that class

Mode of the distribution can be obtained from the
histogram

/ fvﬁz’awé{ /bon

1y A0 3 Yo 50

L/ cantmous dao
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Q) Which one of the following statements is not correct with

reference to a histogram?

(a) Frequency curve is obtained by joining the mid-points
of the top of the adjacent rectangles with smooth curves

(b) Histogram is drawn for continuous data

(¢c) The height of the bar 1s proportional to the frequency
of that class

(d) Mode of the distribution can be obtained from the
histogram

Ans: (d)
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Q) Consider the following statements in respect of a histogram:
I  The histogram consists of vertical rectangular bars with
a common base such that there 1s no gap between
consecutive bars.
II. The height of the rectangle is determined by the
frequency of the class 1t represents.
Which of the statements given above is/are correct?

(@) Onlyl (b) OnlyIl
(¢) BothIandII (d) Neither InorII
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Q) Consider the following statements in respect of a histogram:
I  The histogram consists of vertical rectangular bars with
a common base such that there 1s no gap between
consecutive bars.
II. The height of the rectangle is determined by the
frequency of the class 1t represents.
Which of the statements given above is/are correct?

(@) Onlyl (b) OnlyIl
(¢) BothIandII (d) Neither InorII

Ans: (c)
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Q) The arithmetic mean of 10 numbers was computed as 7.6. It
was later discovered that a number 8 was wronglyread as 3
during the computation. What should be the correct mean?

@) 7.1 (b) 76
(c) 81 (d) 86

(36xn)-3+6 _ %45 - g _ g

&/
/o

/o /o
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Q) The arithmetic mean of 10 numbers was computed as 7.6. It
was later discovered that a number 8 was wronglyread as 3
during the computation. What should be the correct mean?

@) 7.1 (b) 76
(c) 81 (d) 86

Ans: (c)
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